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QUESTION 1

A company has numerous LPARs hosting database servers, and three versions of the DBMS deployed in the
environment. A critical APAR fixes data corruption for one version of the database, but it requires a server reboot. The
only inventory information available is a spreadsheet with every LPAR\\'s hostname and root password. 

Which sequence of tasks will determine which servers are missing the critical APAR, and only apply it to the servers
running the affected level of the database? 

A. Use the spreadsheet to populate the /etc/hosts file on the management node. Configure a NIM server that has the
APAR in an lpp_source. Force-register all of the LPARs with the NIM server. Use NIM group operations to install the
APAR and boot at a scheduled time. 

B. Use the spreadsheet to create a dsh node list. Use dsh with Islpp to create a node list for LPARs needing the APAR.
Use dcp and dsh to install the APAR and reboot. 

C. Configure a Systems Director server using the spreadsheet import function. Use the inventory function to discover
the database level and APAR status. Use the Update Manager to apply the APAR to the affected LPARs and reboot. 

D. Use the spreadsheet to create a dsh node list. Use dcp and dsh to install the APAR. Use dsh to reboot the systems. 

Correct Answer: B 

 

QUESTION 2

While trying to extend a filesystem /work an administrator receives the following error: 0516- 787 extendlv: Maximum
allocation for logical volume fslv00 is 256. What must be done to allow the filesystem to be extended? 

A. Change the filesystem option of maxsz to 512 for the filesystem /work with the command chfs -a maxsz=512 /work. 

B. Change the maximum Logical Partitions to 512forthefslv00 with the command chlv- x512fslv00. 

C. Change the volume groups maximum Logical Partitions per Logical Volume to 512 with the chvg -t 512 vg01. 

D. Change the logical volume type to jfs2 as jfs logical volumes cannot extend passed 256 with the command chfs -v
jfs2 -m /work. 

Correct Answer: B 

 

QUESTION 3

A host has a single virtual Ethernet adapter (ent0) configured with only a default PVID, and the administrator is trying to
determine why it cannot be used to reach any other system on the network. He suspects that it may be caused by a
problem in the VLAN configuration. 

How would the administrator determine the VLAN for which the adapter was configured? 

A. Use the command \\'Isdev -I ent0\\' on the host to determine the port VLAN ID. 

B. Use the command \\'Isattr-EI ent0\\' on the host to determine the port VLAN ID. 
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C. Look on the HMC to determine which VLAN is configured for the adapter. 

D. Examine the Shared Ethernet Adapter on the Virtual I/O Server to determine which VLAN the adapter is using. 

Correct Answer: C 

 

QUESTION 4

What action will prevent the nfsd subsystem from activating at boot time? 

A. Update /etc/inetd.conf to remove the call to startsrc for the NFS subsystem group. 

B. Change the Action attribute from \\'wait\\' to \\'once\\' for the rcnfs line within the /etc/inittab. 

C. Remove the /etc/exports file. 

D. Amend the permissions of/etc/rc.tcpip file to remove execution rights. 

Correct Answer: C 

 

QUESTION 5

An administrator needs to determine if system microcode is at the most current level. Which tool will identify current
microcode levels, and provide an output file which can be used by the IBM Microcode Discovery Service (MDS) for
comparison? 

A. FLRT 

B. invscout 

C. Ismcode 

D. prtconf 

E. urncode_latest 

Correct Answer: B 
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